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Warm Up:
Solve the following:

Quote for this week:

"Even a mistake may turn out to be the 
one thing necessary to a worthwhile 
achievement."

­Henry Ford
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Take the logarithm of both sides...

We have found a logarithmic 
property that says:

loga bx = 

So if we had an equation we could use that 
same property to help isolate the x.  
REMEMBER: if you take the log of one side 
you have to take the log of the other side...

Ex: 4x = 56   solve for x.
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Steps for getting x out of the exponent:
1) take the log of both sides
2) put the exponent (x) out front
3) get x by itself

Remember the log is just a number, 
don't let the letters confuse you.  You 
can add, subtract, multiply and divide 
with logs.
Ex: log 10 = 1

If you don't like taking the log of both sides 
there are some problems that will allow you 
to get to the same base.

If you can make two exponents base the 
same then the powers will be equal.



Lesson 7­5

5

December 10, 2012

Ex:  3x = 27x­2

27 is just 33 so we could switch 27 with 33 to 
get  3x = (33)x­2.  

We then use our exponent properties to get
3x = 33x­6.

Now since our bases are equal we can set 
the powers equal to each other and solve.

x = 3x ­ 6

Steps for same base solving:

1) get the same base by raising a base 
to a power  Ex: 27 = 33
2) Use exponent properties to simplify 
the new exponent.
3) Set the powers equal to each other 
and solve for x.
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Challenge your partner:
Write them an equation with x 
in the exponent and have them 
solve.
Be sure to check each other's 
answers
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You may also have to solve when x is "in" 
the logarithm.  Don't let this scare you, just 
use that hook rule to get the logarithm out 
of there and continue to solve like normal.

Ex: log7 (2x­1) = 4   solve for x

Steps for when x is in the logarithm:
1) Simplify each side as much as 
possible using logarithm rules.
2) Use the hook rule to write the 
logarithm as an exponent and get rid 
of it
3) Solve for x
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You may have to solve graphs that 
involve inequalities.  Don't make it 
difficult, use a calculator!

To do this: put both equations in for 
y1 and y2 and then look for the 
solution or where the inequality is 
true.
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Homework:
p. 526 #9­12, 21­26, 34­
36, 38, 44

Present: 38, 44
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